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[otal No. of Questions — [ 03 ]

Q 1) a) Correct Approach -------- -- --03 Marks
Rank - ----01 Mark
Bloom’s Taxonomy Level : 1,2 CO:1
b) Upto consistency(conclusion) e -03 Marks.
Actual solution 01 Mark
¢ Bloom’s Taxonomy Level : 1,2 CO:1
¢) Bigenvalues--------=-n====-mmmmmmmmmmooosmmmommossm 02 Marks
Eigenvector-----=--w--=========-====== —------02 Marks
Bloom’s Taxonomy Level : 1,2 CO:1
Q 2) a) Correct Approach -------- --02 Marks
Correct ANSWer-----===-=========n==s=====mo==smsoss 02 Marks
Bloom’s Taxonomy Level : 1,2,3,4 CO:x2
b) Correct Approach -- - 02 Marks
Correct Answer- -- --- 02 Marks
Bloom’s Taxonomy Level : 1,2,3,4 CO:2
¢) Correct Approach -------------m-mmmommmmmmmmemm= 02 Marks
Correct ANSWEr==-=-======m=====sosm===mmmsmoomomoos 02 Marks
; Bloom’s Taxonomy Level : 1,2,3,4 CO:2
<
Q 3) a) Correct Approachs-——---sr st 02 Marks
Correct ANSWer------========n=========== 02 Marks
Bloom’s Taxonomy Level : 1,2 CO:4
b) Correct Approach 02 Marks
Correct AnSwer--------==--======="== —memm--—--02 Marks
Bloom’s Taxonomy Level : 1,2 CO:4



